
6 x 12 

3 litres 50 cl est une 

contenance égale à : 

a. 3 litres 

b. 35 centilitres 

c. 350 centilitres Réponse : c 

100 cl est une 

contenance égale à : 

a. 10 litres 

b. 1 litre 

c. 10 cl Réponse : b 

2 litres est une 

contenance égale à : 

a. 20 litres 

b. 200 centilitres 

c. 20 centilitres Réponse : b  

10 litres est une 

contenance égale à : 

a. 1 000 cl 

b. 100 cl 

c. 10 cl Réponse : a 

500 cl est une 

contenance égale à : 

a. 50 litres 

b. 500 litres 

c. 5 litres Réponse : c 

250 cl est une 

contenance égale à : 

a. 2 litres 50 cl 

b. 25 litres 

c. 2 litres 5 cl Réponse : a 

305 cl est une 

contenance égale à : 

a. 30 litres 5 cl 

b. 3 litres 50 cl 

c. 3 litres 5 cl Réponse : c 

10 000 cl est une 

contenance égale à : 

a. 10 litres 

b. 100 litres 

c. 1 000 litres Réponse : b 


